Proposal 
	On my first hole I will use cell membrane and nuclear envelope. The reason why is because the cell membrane protects and controls what goes in and out the cell. By having openings in the membrane that allows molecules in and out.  And the nuclear envelope protects the nucleus and what goes into the nucleus. The nuclear envelope allows molecules in by the same way they have small pores.  

	On my second hole will have endoplasmic reticulum and an Golgi apparatus. I did endoplasmic reticulum because it produces, processes, and distributes proteins which are very important to the cell and the body. I am doing Golgi apparatus because this is the organelle that delivers portions through out the cell.
 
